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Biology
Q.1 What is speciation? 1
Q.2 Name two diseases that are transmitted sexuaily. 1
Q.3 Whatis the role of seminal vesicles and the prostate glands? 2
Q.4 How are inherited traits different from acquired traits? 2
Q.5 A pea plant with blue colour flower denoted by BB is crossbred
with a pea plant with white flower denoted by bb 3
a) Whatis the expected colour of the flowers in their F, progeny?
b) What will be the percentage of plants bearing white flower in
F, generation, when the flowers F, plants were selfed?
¢) State the expected ratio of the flowers in F, generation with
the help of diagram. :
Q.6  List three techniques that have been developed to prevent
pregnancy. 3
Q.7 a) What is the difference between asexual and sexual
reproduction? -

b) Explain why sexually reproducing organisms have better ‘
chances of survival.

¢) Explain the type of asexual reproduction that takes place in
* hydra with the help of diagram.



Chemistry

Q.1 Name one metal that can be cut with knife. . 1
Q.2 Name the compound :- CH, _Og -0 : 1
Q.3 What are amphoteric oxides? Give two examples of amphoteric
oxides. 2 A71
Q.4 Which of the following hydrocarbons undergo addition reaction :
2
CH, CH,, CH, CH, and CH,.
Q.5 Show the formation of Na,O by the transfer of electrons. 3
Q.6 When ethanol reacts with ethanoic acid in the presence of Con.
H,S0,; a substance with fruity smell is produced. Answer the
following questions : 3
a) State the class of compounds to which the fruity smelling
compounds belong,
b) Write the chemical equation for the reaction.
c) State the role of Con. H,SO, in this reaction.
Physics
Q.1 Anelectric iron draws a current of 4A when connected toa 220 V
mains. Its resistance must be : 1
a) 1000Q
b) 100Q
c) 55Q

d) 440



Q.2 Twowires of equal length, one of copper and the other of manganin
(an alloy) have the same thickness. Which one can be used for ;

Q.3

Q.4

a)
b)

a)
b)
a)

b)

2
Electrical transmission lines.
Electrical heating devices and why? Give reason.
State Ohm's law. 1

Acurrent of 5A is flowing through aresistor of 15Q. Calculate
the potential difference between the ends of the resistor. 2

What are the advantages of connecting electrical devices in
parallel with the battery instead of connecting in series? 3
An electric iron of resistance 200 takes a current of SA.
Calculate the heat developed in 308S.

State Joule's law of heating.
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